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FRI7IVNE 5.9%  BEBE 2356 g/cm3

No B WMEOHE | ERETVE | BNTEE
1 (g/cm?) (%) (mm) (El/mm)
1 2.358 100.1 0.78 2100
2 2.351 99.8 0.65 2170
3 2.356 100.0 1.06 2420
15 2.355 100.0 0.83 2250
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papormen  Q.EN 2B 3. RBUN BEFRE C,=1.0
SHERRM L#EEE 686N BHE  0.63 MPa
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e (.05 2. 71— BEFE C=1.0
HEMADNo. 1 2 3 19
DR EOBE (o/cm® | 2.358| 2.351| 2.356| 2.355
QUKD EDHEHE (%) 100.1|  99.8| 100.0| 100.0
® dso 1.31 1.31| 1.54
ZH 2 (mm) @ dus 1.68| 1.52| 1.84
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ERLHE (%) do 0.78| 0.65| 1.06| 0.83
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R (5] DO DS RD
PSRN, 0 ‘ 5 104 16 | 30 | 45 | 60 rml | [E/mm] | /4
No. 1 0.00 | 045 | 070 | 0.84 | 0.95 | 1.31 | 1.68 | 1.98 0.78 | 2100.0 | 0.0200
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HEREE D] DO DS RD
B EANo. 0 ‘ 5 104 16 | 30 | 45 | 60 tml | [E/mm | w4
No. 3 0.00 | 0.61 | 0.8 | 1.02 | 1.18 | 1.54 | 1.88 | 2 10 1.06 2420.0 | 0.0174
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